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Q-1 In the figure, sides QP and RQ of 4PQOR are produced to points S and T respectively. If
ZSPR =135° and £PQT =110° , find «PRQ .
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Solution:
Given, ApPQR sides QP and RQ
ZSPR = 135°and£PQOT = 110°
Now,
ZSPR+ A PR = 180° (SQis a straight line)
= 135°+ ZQPR = 180° = A PR = 45°
Also,
ZPQOT + £ZPQR = 180° (TR is a straight line)
= 110° + ZPOR = 180° = £ZPQOR =70°
Now,
ZPQOR + ZADPR + £ZPRQ = 180° (Sum of the interior angles of the triangle)
= 70° +45° + ZPRQ = 180° = 115° + ZPRQ = 180° = £ZPRQ = 65°

Q-2 In the figure, £XYZ = 54°. If YO and ZO are the bisectors of «xyz and «xzy respectively of
AXYZ ,find 20zy and «0z.
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Solution:

Given, £X = 62°, LZXY Z = 54°

YO and ZO are the bisectors of ~xyz and «xzy respectively.

Now,

AXXZ+ ZXYZ + £XZY = 180° (Sum of the interior angles of the triangle)
= 62°+54°+ X ZY =180° = 116° + LXZY = 180° => LX ZY = 64°

Now,

7Y = %d(ZY (ZO is the bisector) = OZY = %(640) =32°

Also,

YZ = %AXYZ (YO is the bisector)

1
> DYZ = 5(54") =27°

Now,
7Y + LYZ + £ = 180° (Sum of the interior angles of the triangle)

= 32°+27°+ 40 = 180° = 59° + L0 = 180° = £0 = 121°
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